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Write your roll number on question paper before start writing answers of questions. No supplementary
answerbook will be given to any candidate, hence the candidates should write their answers precisely.

g B IR o A i - R e T s Rl | AR it vl B @@ SR — gRaer 8 @
gt | are: aenfell 6t wifdY ¥ & S SoR-oRo ¥ £ W we @ Sov 9aY 3T R v |
Part - A shall contain question No. 1 consisting of very short type X (Ten) questions. The &iididate is required
to answer each question in 20 words. Part-B shall contain question No. 2 consisting of V (five) questions. The
candidate is required to answer each question in 100 words. Part - C shall contain 3 eassy type questions (one

from each section) with intemal choice.

Attempt Five question in all. All questions of Part - A and Part-B are compulsory while rest 3 question are to be

attempted froni Part - C selecting one question from each section. All question carry equal marks.

PART-A/®077 — &

1. Explain

(1) Convexity and Concavity.
Fagea AR Fargar

(i) Singular Matrix
RATe Afg

(1) Additive Utility Function
AT SYa wed

{iv)  Linearly Homogencous function
AR Ty o
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(v) Sumplex Method
Rrrasraw faf
i) Saddle Point
wea fag
(") Maxmin
LE Lo
(Vi) Second order condition for utihity maxiMization
SR srfiarameor 2 Rdva #9 1 wd
() Basic solution in Linear Programming.
TR drfir A e v
x) Zero - Sum Game
bl o A
PART-B/¥T7 — §
(i) Discuss the properties of dynamic input-output model.
T / AT Fqe—anSeye Hied it fsreael @t fadm S
(1) Explain elasticity relation in demand analysis.
=T fawdyor % S et ) weE
(i) Derive first order and second order condition for profit maximization.
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(v)  Derive Hawkins - Simon conditions, - r

B8 — AT A 7t 1 Fregor Aifore |
(v)  Explainusesofinput-outputin planning.
A= ﬁ?ﬁg? — HTITYE & IqOHT FTEQ |
PART - C/ 93T — 9
SECTION -A/@vg —
Derive the Slutsky equation for two goods case.
Y TRy B Rl A Teeh witERw &1 0 St |
OR/ 3yt
(i) Prove the convexity of indifference curve.
eI 7 A I=rrEI F fig A
{ii) U =x,x: - 10x, utility function
U=x,x - 10x,39Gar e
-~ Budget constraint 2x, + 8x,= 116
qufe 9faa= 2x, + 8x,= 116
Find utility maximizing combination of x, and x,.
X, 3% x, B YA Sf¥maAam=or wg s HFAT |
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4. Deriveinputdemand function when a f; profits. Discussits properties also.
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Discussthe properties of CES production funcjgp.
C.E.S. It wetd ot frwemdt a1 fdesr sopyc |
SECTION -C/&"8 —¥

" «ing Si d.
Solve the following Linear Programming Problem uSi?8 Simplex Metho
ﬁammmﬁmﬁmmﬁmﬁml

Max. n=23x,+28x,
IR E T

20
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Subjectto 3x,+2x,<58

wior=r 2x,+5x%,590

" OR/ 3Zrar
i

(i) Technological Coefficient Matrix A is

% A K
o K%

LKA

X, %20

F=|10
100
Find gross output level of each sector.
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(i) A'spayoff =

[ 7
6 2
5 1

(= N N

Find solution of game,
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